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uwjwuwnyned (pninp wnuwnpdnipwihl hwhybbph hwiwp wpuwndnipwihG hwahyGeph hwdwp’
nnwiwh b whywu pwlwyhg) wlywiu pwlwyhg)
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max 2000000 <£ npw

Onfuwbgynn gnidwph 0.1%
min 20000 << npwy
max 2000000 << npwi

12. <wdh thwynmud

ubyswn

13. Qnpéwrlwywh opdw
Gpywpwgdwh hwdwn
UhonpnwyAwn (quodyned
t dhwOywg, hwawpunpnh

1 dwd (Gplwljwl dwiwbwlyny 18:00-hg
UpGsl 19:00)- 2 500 000 << npwid




anpwynp’ “Pwly-
hwawfunpn” hwdwywnpgny
ninwpyywé b hpwywunt
whdh Ynnihg hwuunwunywd
hwjwinh hhdwb Yypw, npp
ninwpydt £ ng niz pwl
GpLwOjwb dwiwbwyny
14:00, jwhuws
Gnywpwgdwé dwakph
pwlwyhg L YyEpwnwpddwh
GOpwlyw sk, GnyGhuy
owrwnipnLihg
hpwdwpybint nbupnid):

2 dwi (6plwljwb dwdwbwyny 18:00-hg
thbsk 20:00)- 5 000 000 £<£ npwd

3 dwd (Gpluwbywb dwdwbwyny 18:00-hg
thbgk 21:00)- 7 500 000 << npwad

*njw| hwuwnwenph dtg soGnwreydwsé dwewjnipintbObph uwywgbbpp hwdwédwt Pwbynwd gnpénn
«4SP-Lwjwunwlb Pwby» ORPL Ynnihg rbghnbiwn hpwywpwiwywh widwhg, Gwlb wohwwn
dGrGwpywwntiptiph, hhdlwnybbpht, wEnwywb ng webnpuwihG YuqiwybpunienttGpha dwwnnigynn

dwrwyniynttlGbph uwywqgltiph:




